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Cos%:% cos2a=cos’a-sin’a cos(a—b) = cosacosh+sinasinb
gnZa:% cos2a=2cos’a-1 cos(a+b) =cosacosb-sinasinb
cos’a+sin‘a=1 cos2a=1-2sin’a sin(a+b) =sinacosb+cosasinb
l+tan?a= 2 sin2a=2sinacosa sin(a-b) =sinacosb-cosasinb
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CcoS p+cosq = 2005[ p;qjcos( p;qj cosacosh =%[cos(a+b) +cos(a-b)]
cosp—cosqz—ZSin(p;qjsin(p;qj sinasinb:—%[cos(a+b)—cos(a—b)}
sinp+sinq=25in[p7+q)cos[%j sinacosb:%[sin(a+b)+sin(a—b)]
. L p+q). ( P—q . 1r. .
sinp-sing = 2cos sin cosasinb=-=|sin(a+b)-sin(a-b
p-sing (Zj(zj S[sin(a+b)-sin(a-b)]
2t -
tan(za):izaj tan(a—b):M J tan(a+b):m
1-tan“a l+tanatanb 1l-tanatanb
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cosx | 00X | —OO8X | —00SX | dnx | —sinx snx |0 L [ 2]£]12
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snx —9qnx qnx —9nNx QosX COSX = 5| 1 0
tenx | —taax | —tanx tenx 1 -1 2 2 |2
tanx tanx

-1<sinx <1, -1<cosx <1 R e X M
cos’x +sin’x =1 R e x o

1+tan?x = coizx R _{%Jrkﬂ}
cos(x + 2k 77) = cosx Rge x 9

sin(x +2k 77) =sinx kOz 9
tan(x +k 77) = tanx tanx = 3NX
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KozlX =Y KT 5l HASicosx =cosy
X ==y +2km

x =y +2km PR =g
0z y 3 #SSsinx =siny
x =(m-y)+2km

kOZ x=y+km &S tanx =tany
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